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A FISELLA K HHLE
HT HK A0 (58) A (40) An GH
H #HT 492 407 395 802
AT 1,776 1,677 1,794 3,471
JHET 985 904 834 1,738
== 1T 1,257 988 1, 050 2,038
FFHT 1,956 1,818 1,900 3,718
JTHT 1, 654 1,702 1,843 3, 545
i 842 930 972 1,902
A AET 612 521 564 1,085
At ZEHT 901 859 891 1,750
BT 686 625 620 1,245
HAET1 T H 887 844 848 1,692
HARET2 TH 804 784 761 1,545
PEFTIR 1 T H 2,196 1,847 1,965 3,812
VEETIR 2 T H 971 875 913 1,788
FEET1TH 1, 580 1,303 1, 654 2,957
T2 TH 1,256 954 1,120 2,074
kAT 3 T H 1, 424 1, 428 1,513 2,941
T4 TH 2,892 2,663 2, 887 5, 550
SRHET 949 908 957 1, 865
FRAEHT 1,204 1, 152 1,235 2, 387
EFIT1 TH 513 442 492 934
EFET2 TH 776 837 793 1,630
KT 3 T H 731 716 702 1,418
EKFHT4 TH 212 214 203 417
EJFET5 TH 479 456 502 958
AbFTIR AT 1,109 1,131 1,076 2,207
[ B AT 1,608 1,674 1,799 3,473
FiEs 1,203 1,244 1,302 2,546
E1TH 426 460 495 955
tE 2 TH 628 737 744 1,481
tE3TH 477 537 528 1,065
EE4 T H 404 515 498 1,013
FAZENT 1,399 1, 050 1,089 2,139
=L 721 692 730 1,422
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SFI54ELLA K H BUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,023 827 1,022 1, 849
ERNET 924 1,011 1,021 2,032
KETHH 167 96 150 246
[icg gzl 872 924 875 1,799
HOHTHHT 1,007 1,082 1, 066 2, 148
KFEHE 1,743 2,036 2,009 4,045
KFFRIL 1,526 1,536 1,594 3, 130
Al - /N 6,151 6, 358 6,333 12, 691
KF T 4,955 5,413 5,397 10, 810
KR EE 4,781 4, 557 4, 625 9,182
WAL 958 795 843 1,638
[EREa 498 406 409 815
S 1,533 1,383 1,482 2,865
EoE1TH 543 539 508 1,047
BEo=2TH 722 653 659 1,312
KFEA K 4,784 5,011 5, 056 10, 067
KFEFIE 3,407 3,631 3, 649 7, 280
KFA 11,054 11,519 12, 063 23, 582
K7 Eilin 2,009 2, 056 2,047 4,103
/INFFRET1 TH 2,631 2,324 2,701 5,025
/INFFRET2 TH 1,281 1,228 1,194 2,422
/INFFRET3 TH 2, 435 2,195 2, 466 4, 661
/INFFRET4 TH 1, 580 1,497 1, 492 2, 989
KEd s 1,066 1,165 1,141 2,306
KFEFE 2, 389 2, 565 2,671 5, 236
KFAH A A 716 614 709 1,323
== = 856 992 987 1,979
KFEdsit 76 111 88 199
1 T H 907 980 1,024 2,004
2 TH 981 1,091 1,112 2,203
B3 T H 879 780 897 1,677
B4 TH 678 691 794 1,485
w5 TH 792 793 875 1,668
KFRZT 325 312 326 638
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AFI54E11H K A BIE
my 4 A AR (FB) i AAa & Al GH
KT 204 250 232 482
KPR 813 945 978 1,923
RF-H HH 142 176 177 353
KFBTH 154 190 164 354
KFHIH 16 20 19 39
KFFE A 463 549 497 1,046
Pl 1 TH 1,049 1,012 1,132 2, 144
il E2TH 1,139 1, 141 1,198 2, 339
=M1 TH 942 996 1,064 2, 060
M2 TH 352 321 384 705
3 TH 834 848 883 1,731
A TH 1,182 1, 120 1,157 2,277
HRLAr 1 TR 1, 657 1, 484 1,626 3,110
WL F2 TH 1,422 1, 542 1,552 3,094
Bkl 3 TH 790 837 935 1,772
WL F4 T H 365 224 310 534
WL E5 T H 162 152 175 327
WL 6 TH 595 486 576 1,062
Pl 1 TH 1,095 1,124 1,088 2,212
w2 TH 326 336 369 705
farE1TH 1,512 1,439 1,404 2,843
My 2TH 689 725 745 1,470
M3 TH 856 823 840 1,663
#1TH 276 341 301 642
H2TH 269 325 327 652
#3TH 1,392 1, 404 1, 456 2,860
= &1TH 360 436 401 837
= E2TH 191 220 224 444
= &3TH 291 356 337 693
=E4TH 427 486 453 939
—&5TH 675 713 700 1,413
HEA 347 413 389 802
| 226 279 281 560
WA2TH 937 907 901 1,808
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SFS4ELLA K HHIE
i) A A (59) AB (%) UNEGD)
WA3TH 2, 040 1,368 1,492 2, 860
WAR4TH 112 83 126 209
WA7TH 335 348 365 713
WA TH 1,565 1,171 1, 407 2,578
FREAR1ITH 1,738 1, 840 1,904 3, 744
FRER2TH 944 1,011 981 1,992
1 TH 234 254 267 521
2 TH 487 593 629 1,222
It 3TH 1,039 1,140 1,167 2,307
4 TH 59 79 70 149
e [ B 354 424 401 825
bR T 623 568 639 1,207
AT IR 597 17 734 1,451
WETIR1 T H 1,474 1,475 1,315 2,790
WATIR 2 T H 2, 386 2, 646 2, 442 5, 088
WRETIR 3 T H 1,553 1, 634 1,459 3,093
WATIR 4 T H 453 533 480 1,013
WAETIR5 T H 817 782 738 1,520
RPTRFIE 1 T B 1,336 1,452 1,288 2, 740
WATRFIME 2 T H 1,337 1,379 1,325 2,704
WHTRAIE 3 T H 866 952 878 1,830
<TDEHE1ITH 440 296 373 669
<TDEH2TH 724 670 601 1,271
<TDEHE3ITH 870 712 804 1,516
HER 1T H 145 152 138 290
TER2TH 410 526 502 1,028
HEm 3 T H 551 609 592 1,201
TER4TH 598 644 644 1,288
MMRE1TH 678 755 781 1,536
MMRE2TH 710 766 840 1, 606
INFFRFE1TH 552 609 671 1,280
INFEFRFE 2 TH 548 571 617 1,188
INFIRFE 3 TH 888 1,007 965 1,972
INFEIRFE A4 TH 806 981 975 1,956
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AFI54E11H K A BIE
i) W A (59) AR (&) AR GH
INFHER 5 T H 558 755 681 1,436
/INFFERG 6 T H 604 593 624 1,217
/INFFEET 5 T H 584 597 594 1,191
WNFRRTET 1 T H 770 765 739 1,504
/WNFfRTET 2 T H 556 605 594 1,199
/NFFRTHT 3 T H 832 1,042 1,042 2,084
JEEFHHET 1 T H 91 104 17 221
LB 2 T H 26 36 21 57
¥ 1 TH 283 313 316 629
¥ 2 TH 155 183 182 365
¥ 3 TH 190 141 198 339
B 1 TH 98 122 122 244
kB2 TH 142 177 175 352
B3 TH 145 170 180 350
EFH1TH 834 816 826 1, 642
E#FH2TH 1,256 1,384 1,335 2,719
EHFIE3ITH 1,406 1,563 1,566 3,129
EHFI4TH 1,333 1,432 1,558 2,990
EHFIESTH 1,696 1,901 1,925 3, 826
INEEE 885 969 965 1,934



















